il
W
St
%
I

1. TE4
THE4 R 6 KEBENFEI S ERIHRE L5
THEHA RE VT S R VR S TR S R L BT 2 4
2. THEHNE
1)  HEI4 KB ERE BT s KR
2) £ I & MR TR
3) T i 194 H [ H 40 64 8H19H
= SFn T 2H28H
4) TEyE

ELAma  JuN TR )R




DR VL5 R VL B ik R LI T O 4%

Vol =
FER N E
TH4 | R 6 KMENREIFEX M E LF
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
TR (PR HLA) X 1 28, 885, 200
IR =X 1 28, 885, 200
AR X 1 28,885,200 | FENFEEIEE (5711 5-4EEEH) 1 =
EFEREE FE%E (85db) R 72H 3kVA ;
FE R ELEE CHR)BLRETAH) 1 =
FEUE (85db) BIE ! 15kVA ;
FRENREEREE (R B8R ) 1 =
FEUE (85db) BIE ! 15kVA ;
FRENFEEREE (R T 8LET ) 1 =
FEUE (85db) BIE ! 15kVA ;
L 1 &
MSE-50-12 ;
L 18 &
MSE-150-2 ;
HERY 7 AT ELRIET ) 1 L
TRELTREN Aok Fvvn 20 INE T
BERY /b ()1 Bl i) 1 L
TRELTREN Aok Fvvn 20 INE T
BERY 7 b (SR T o BlalET ) 1 L
TRELTREN Aok Fvvn 20 INE T
A T iR s 3 =
500LH ;
] 1 =
AF/VABE 40cm 4140m3/hPL I ;
Hhas B INE X 1 28, 885, 200
] = 1 3, 486, 847
IR L = 1 3,138, 347
FE B E L 2 1 93,820 | FEENR ELE BRI 1 =
FLEERE AR B e

-1- E ta2@d Ui




DR VL5 R VL B ik R LI T O 4%

She =
PR R E
T4 | R 6 KBEAREIEER R E L
LRy - LA - 5 [RT; % & # MW MR
AR T 1 A
Je R T S 35,878 | RBYREAEENE ! B
FEMBAT ;
SR BB (50 1 Y
F R i X 667,759 | FEEFEEILE L (TIHIE 1 =
FEMBAT
e ) MR I sl
P 2 1 B
PRGN ;
S T 2 1 B
KRB 1 A
HEALE T 1 =
g T 1 A
AR T 1 N
Je R T S 310,712 | RBYR BB ! B
FEMBAT
HEIR ) M 1 sl
B 1 B
PRGN ;
MEEE Tt 1 B
et e 1 A
HEAL I T 1 =N
AL 1 | A
SR BB (50 1 oY
F R i T X 665, 413 | FEBEFEBILEIn (TR 1 =
FEMBAT
R MR I sl
P 2 1 B
PRGN ;
IS et 2 1 B
AL T 1 =
g T 1 X
AR T 1 A

TAZIEE LN )R




il
W
St
%
I

DR VL5 R VL B ik R LI T O 4%

TH4 | R 6 KMENREIFEX M E LF
TEHEX Sy - THE - R B {7 % & A bl A iR
FER A E T =X 308, 119 | REENFEELEERE 1 5
FEERARE T
BERY 7 Mt 1 i
JRBHRE 2 1 A
A
TR T 1% gl s 1 =
iR 1 F2V
B T 1 F2V
BG4 ERR (BR) 1 X
FERMREL = 742,198 | FEENFE AL E PR IREE 1 =)
FEER AR AT
BERY 7 MR 1 i
PRBHE R & 1 A
A
T T A5 H g B 1 =
HEMEC R T 1 F2V
Bl T 1 2V
Bl g L 1 F2V
7R )RR E L 1 F2
FER A E T =X 314, 448 | REENFEELEE L 1 5
FEERARE T
BERY 7 Mt 1 i
OB 2 1 A
A
TR T 1% gl s 1 =
iR 1 F2V
B & s 1 1 F2V
B T 1 F2V
BG4 hER (BR) 1 X
T 58 g T = 348, 500
figis T = 348,500 |5t (FBR) 1 X
-3 - E A2 s SN 7




DR VL5 R VL B ik R LI T O 4%

R PERE
T#E4 | R 6 KMENBEIRERMRE LF
THEXSy - THE - FE5 H7 & & # i Gl 2 N

[P % 2V 1 3, 486, 847

Hm IR E E20 1 349, 340

e Tre: X 1 67, 340
EsZREgiis ¢ 2V 1 67,340 |EEEHERR FEAT -HERLE 1 ey
BB A BT e 1 =«

sty (R L) 2V 1 282, 000

ol T 2V 1 3, 836, 187

e R E20 1 1,471, 000

Hear Mty 2V 1 3, 950, 000

Boifr & bt 2V 1 207, 000

ResnE me 2V 1 3, 743, 000

T AT 2V 1 11, 795, 047

— i PR E20 1 2, 224, 753

N E20 1 53, 660, 000

-4 - E ta2@d Ui




(B R IX

=+ /A = e
FER N E s
T4 | R6KEENRENRERHRE LF
4 o S B R | B Az W B & #A i il A BN
AR (as BLR) 2 1 10, 755, 000
IR = 1 10, 755, 000
A2 B R R A = 1 10, 755, 000 | E= A0 FH 445 75w R A 1 3 5
M LR 2 1 10, 755, 000
B = 1 346, 860
a1 =Y 1 159, 930
AR AR Rk i L Y 1 53,310 | BN H (= B IR AL E R R 1 =
BrfR T 1 =
AR AR Rk i L Y 1 53,310 | BN H (= B IR E R R 1 =
BrfR T 1 =
AR AR Rk i L Y 1 53,310 | B H (= B IR AL B R R 1 =
[ 1 =W
A Y 1 186, 930
R = 1 186,930 | A< 8 (i & 3 AH
A
BT E A E 9 N
B
[ERAE Xy = 1 346, 860
HiE 2 1 42, 000
W E (i) = 1 42, 000
T = 1 388, 860
Bl gy 2 1 190, 000
-5 - E+A8m SN T S




(B R IX

&=

T#H4 | R6KMENEEIFEERHERE THF

TEHX4y « Tfd - FER B Az £ & #A i il A R
TR = 1, 959, 000
Mo E B = 1, 959, 000
T =5l = 2, 537, 860

TAZIEE LN )R




